Checkpoint – Lines




Name: _____________
1. Mark the following points on the grid, and label them.
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2. Determine the slope…

a) …of the line
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b) …of the line
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c) …between (–9, 3) and (1, –15)







d) …between (7, –3) and (7, 5)








3. Determine the equation of… 

a) …the line shown in the graph


b) …a line passing through (0, –5) and (3, –8)
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4. Draw a graph of the following lines. Label them.

a) 
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c) 
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5. Give the equation of a line that….

a) has a slope of 
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____________________


b) has a y-intercept of 3 






____________________


c) goes up and to the right





____________________


d) is a horizontal line






____________________


e) is steeper than 
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____________________


f) is less steep than 
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____________________


g) goes in the opposite direction to 
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h) is steeper than 
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 but less steep than 
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i) crosses the y axis between 
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and 
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____________________


j) is not steep and has a small y-intercept



____________________


k) is steep, and goes in the opposite direction of 
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l) is a horizontal line that passes through the point (2, 3)

____________________


m) is steeper than 
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and passes through the origin

____________________

n) is perpendicular to 
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a) (2, 4)��b) (–5, 3)





c) (0, –3)


�d) (–3, –4)
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